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OV S R R
C  ESTIMATING SURVIVAL FUNCTION FOR RIGHT CENSOR DATA
C*'*'*'******ﬂ(#’(’(*#****#*#*#**fWﬂ NERNENEN NN RN RN NN RN RN RN RNERARRNENENRRRAN #Hd(tw

DIMENSION  X(50),IDX(50))Y(50),REPL(50),REHAZ(50),REBAY (50),

* SREPL(50),SREHAZ(50),SREBAY (50) SLOG(50),SPL(50))
* SHAZ(50) SBAY (50),NPC(5) SBAYL (50) SREBAL (50),

* REBAYL(50) SUMSP(50),SUMSH(50) SUMSB(50), XN(50),
* SUMSBL(50),AVGSP(50), AVGSH(50) AVGSB(50),

* AVGSBL(50), SREBAG(50), SUMSBG(50) SBAYG(50),

* REBAYG(50),AVGSBG(50),TC(10),

* AVGPL(10,10) AVGHAZ(10,10), AVGBAY(10,10))

* AVGBAL(10,10),AVGBAG(10,10)

COMMON  /SEED/IX /SELECTIKK

INTEGER  PC

REAL  NORMAL

DATA  (NPC(J)m=1,4)/10,2030,40/

DATA  (TC(K),K=L7)/1.00,2:00,3.00,4.00,5.00,6.00,7.00/
CLUTITIH-H-H-H THH H-H H-1H )H ) HA4tIH H U H )H+<m tHfH -H —H-H-H+
c CONSTANT VALUE

SIGMA =0.9
ET =40
N =10
MPC =4
NTC =7
LO =1000
ALPHAR=10
TINT =0.25
TSTEP =0.25
IX =673



CIHHIEEEEEEEEE TH ILEEH TH EEETIHH HH T H-H T e
C HEADLINE & ITS CALCULATION
C ..................................

ES2 =(SIGMA**V2

ES = EXP(SIGMA*2)

DMEAN = ALOG(ET)-ES?

T50 = EXP(DMEAN)

ETL = TS0*EXP(ES?)

VT = TS0*ESHES-)

WRITE(6¥)

WRITE(6.5)

5 FORMAT(21X,LOGNORMAL DISTRIBUTION)

WRITE(6,6) DMEAN SIGMAETLVT

6 FORMATODMEAN = F7.4,2X SIGMA = \F7.4,2X 'MEAN =" F6.42X,

* VAR=\F104)

WRITE(6,7) N, IX ALPHARLO

7 FORMAT(6X,N = " 12,2X'1X = \I4,2X ALPHAR = * F4.2,2X,

| 'LOOP="14
SR e A AR T Ay
C 1STDO LOOP FORVARY TC POINT
C

DO %91 K= LNTC
NP=0
IX =673
DO 992 TKL = TINTTC(K),TSTEP
NP =NP+1
Y(NP) = TKL
992 CONTINUE
CMITTTTTUE T T THE T THIPH TTHHHMHH T
¢ 2NDDOLOOP FORVARY PERCENT OF CENSORING
O _
DO 200 J= LMPC
PC=NPC(J)
NC = (N*PC)/100
NU=N-NC

326



IA = 65539

KX=0

DO 110 LI= LNP
SREPL(LI) =0.0
SREHAZ(LI)=0.0
SREBAY(LI) =
SREBAL(LI) = 0.0
SREBAG(LI)= 0.0
SUMSP(LI) =0.0
SUMSH(LI) =0.0
SUMSBI(LI) = 0.0
SUMSBL(LI)= 0.0
SUMSBG(LI)= 0.0

110 CONTINUE
SUM =0.0
STMED = 0.0

CHHm m m HIUn IIIILtIH IH-+H-FH IHHUHHtiHIHGITHHIHH44

c 3RD DO LOOP FOR SIMULATE & GEN DATA
C

DO 101 L= I.LO
KL =0
K2 =0
| =0
SUMT = 0.0
PDL =0.0
HAZ = 0.0
BAY =0.0
DO30II = LN
60 XN(I1) =NORMAL(DMEANSIGMA)
X(11) = EXP(XN(IL))
IDX(I1) = JINDEX(X(11), TC(K))
IF (IDX(11) EQ. 1) THEN
Kl =K1+1
IF (KI LE. NU) THEN
GOTO 30

321



ELSE
IF (K2 LT, NC) THEN
GOTO 60
ELSE
GOTO 3L
ENDIF
ENDIF
ELSE
K2=K2+ 1
IF (K2 LE. NC) THEN
GOTO 30
ELSE
IF (KI LT, NU) THEN
GOTO 60
ELSE
GOTO 3L
ENDIF
ENDIF
ENDIF
30 CONTINUE
31 DO321L=IN
IF (X(11) EQ. TC(K)) THEN
1- 141
ENDIF
SUMT = SUMT + X(11)
SUM = SUM + X(12)
32 CONTINUE
POSL =N/2
POS2 =POS| + 1
TMED = (X(POSI) + X(POS2))12
STMED = STMED + TMED
CALL RANK(N,X4DX)
DO 140 LI = LNP
SLOG(LI) = 0.0
xs = Y(LI)

328



140
101

291

20 = (ALOG(XSIT50)/SIGMA)

CD= CDFN(Z0)

SLOG(LI)= 1-CD

CALL PRODUC(N>X,IDXXS,PDL)

SPL(LI) = PDL

CALL HAZARD(NX, IDXrX , TC(K),HAZ)

SHAZ(LI) = HAZ

CALL BAYE(NNU,X XSJTC(K),SUMT ALPHAR BAY)

SBAY(LI) = BAY

CALL BAYEL(N,NCJT50,SIGMA,SLOG(LI)XXS TC(K) ALPHAR)
BAYL)

SBAYL(LI) = BAYL

CALL BAYEG(NPCPCS, TC(K)NU,SUMT,BAYG)

SBAYG(LI)= BAYG

SUMSP(LI) = SUMSP(LI) + SPL(LI)

SUMSH(LI) = SUMSHILI) + SHAZ(LI)

SUMSBI(LI) = SUMSB(LI) + SBAY(LI)

SUMSBL(LI) = SUMSBL(LI) + SBAYL(LI)

SUMSBG(LI) = SUMSBG(LI) + SBAYG(LI)

CONTINUE

CONTINUE

SUMPL =0.0

SUMHAZ = 0.0

SUMBAY = 0.0

SUMBAL = 0.0

SUMBAG = 0.0

AMED = STMEDILO

TMEAN = (SUMI(N*LO))

XMEAN = TS0*EXP((SIGMA**2)/2)

WRITE(6¥)

WRITE(6,291) TMEAN XMEAN,TC(K)
FORMAT(2X, DTMEAN = \F5.3* XMEAN = \F5.3" TC=\F5.3)

WRITE()

DO 160 LI = LNP

TT=Y(LI)
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160

392

193

1161

AVGSP(LI) =SUMSP(LI)/LO
AVGSH(LI) =SUMSH(LiyLO
AVGSB(LI) = SUMSB(LI)ILO
AVGSBL(LI) = SUMSBL(LI)/LO
AVGSBG(LI) = SUMSBGCLIyLO
CALL RELATE(SLOG(LI),AVGSP(LI),RE)
REPL(LI) = RE
CALL RELATE(SLOG(LI}AVGSH(LI)RE)
REHAZ(LI)= RE
CALL RELATE(SLOG(LI),AVGSB(LI),RE)
REBAY(LI)=RE
CALL RELATE(SLOG(LI),AVGSBL(LI),RE)
REBAYL(LI)= RE
CALL RELATE(SLOG(LI),AVGSBG(LI),RE)
REBAYG(LI) = RE
SUMPL = SUMPL + REPL(LI)
SUMHAZ = SUMHAZ + REHAZ(LI)
SUMBAY = SUMBAY + REBAY(LI)
SUMBAL = SUMBAL + REBAYL(LI)
SUMBAG = SUMBAG + REBAYG(LI)
CONTINUE
AVGPL(KJ) = SUMPL/NP
AVGHAZ(KrJ) = SUMHAZINP
AVGBAY (KJ) = SUMBAYINP
AVGBAL(KJ) = SUMBALI/NP
AVGBAG(K,J) = SUMBAGINP
WRITE(6,*)
WRITE(6,392) PC
FORMAT/(2X, Percent of Censoring = .12, %))
WRITE(6,193)
FORMAT(1X,62(-))
WRITE(6,1161)
FORMAT(2X,T)7X,SPL’,6X,'APEPL' 5X, SHAZ’ 5X,’APEHAZ’5X,
ISBAYD'4X, APEBAD')5X,BBAYG' 4X, APEBAG))
DO 163 LI= 1 NP
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TT=Y(L))

WRITE(6,1163) TT AVGSP(LI) REPL(LI) AVaSHILI),
* REHAZ(LI),AVGSB(LI)REBAY(LI),
* AVGSBG(LI)REBAYG(LI)

1163 FORMAT(1X,F4.2,4(1X,F9.5,1X,F9.5))
163 CONTINUE
WRITE(6,1172)
1172 FORMAT(LX 62(-))
WRITE(6,1201) AVGPL(KH) AVGHAZ(K),AVGBAY (K,
x AVGBAG (KH))AVGBAL (K3)
1200 FORMAT(1X,'MAPE'5(10X,F 10.5))
3 FORMAT(1X,62(-))
200 CONTINUE
991 CONTINUE
WRITE(6,*)
WRITE(6,*)’ RERK KK gummary PR
DO 199 K= LNTC
201 =(ALOG(TC(K)/T50))/SIGMA
CDD = CDFN(ZOI)
SL = 1-CDD
WRITE(6.%)
WRITE(6,8) SL,TC(K)
8 FORMATUXATC)="F7.52X,TC=1\F5.2)
WRITE(6,2)
WRITE(6,1)
1 FORMAT(3X,PC'5X,'PL" 7X,'HAZ" 7X,'BAYD" 6X,'BAYG,6X,BAL")
2 FORMAT(62(-)
DO 210J=1,MPC
PC = NPC())
WRITE(6,1202) PC,AVGPL(KrI))AVGHAZ(Krl),AVGBAY (Krl),
* AVGBAG(Kr),AVGBAL(KJ)
1200 FORMAT(3X,12,5(1X,F9.5))
210 CONTINUE
WRITE(6,13)
13 FORMAT(62(-)



199 CONTINUE

STOP

END
cMimfHwmmiiiuiiiiiHttMmuuttMmMmmtmmMummmttiMWUHMMMtiumt
C SUBROUTINE RANDOM BARIABLE

SUBROUTINE RAND(IX,IY,YFL)
C 1Y = IX*742938285
IY = 1X*65539
IF (1Y) 10,20,20
101Y =1Y+2147483647+1
20 YFL = IY
YFL =YFL/2147483647
IX = Iy
RETURN
END
ciivimmnmmimftHHIimmmmmumMmtimmmmmmmmmmmitmm#
C GEN DATA :WEIBULL DISTRIBUTION
cmtmtmmuHmiiiHituimmuttiwuHittttimtitmmimtimtmmmmmttmtm
FUNCTION WEIBUL(LAM MSHA)
COMMON /SEED/IX
REAL LAM MSHA
10 CALL RAND(IX,IY,YFL)
IF ((YFL .EQ. 1.0) .OR. (YFL .EQ. 0.0) GOTO 10
WEIBUL = (LO/LAM)*(-1,0¥(ALOG(L.0-YFL)))**(10/MSHA)
RETURN
END
AMimmmtmMMUumMtiMitMMMMWMMMUuumtMtHMWMMHM mmm Mitm
C GEN DATA :NORMAL DISTRIBUTION

FUNCTION NORMAL(DMEANMIGMA)
COMMON /SEED/IX [SELECT/KK
REAL NORMAL

Pl =3.1415926

IF (KK. EQ. 1) GOTO 10



C

CMIfmittttnttlHIinilllim UHM ttUIWHUMUM mHW ttHttllimUUMmtMMEM M im M M M M M

CALL RAND(IX,IY,YFL)

RONE = YFL

CALL RAND(IX,Y,YFL)

RTWO = YFL

ZONE = SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
ZTWO = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
NORMAL = ZONE*SIGMA + DMEAN

KK= 1

RETURN
10 NORMAL = ZTWO’ SIGMA + DMEAN

KK =0

RETURN

END

SUBROUTINE FOR SORTING DATA

SUBROUTINE RANK(N,X,IDX)
INTEGER I1F,SP,MID,LEFT(20),RIGHT(20),IDX (50)
REAL X(50),PIVOT
LEFT() = 1
RIGHT(l) = N
sP=1
10 IF (LEFT(SP) .LT. RIGHT(SP)) GOTO 20
SP = SP-1
GOTO 130
20 1= LEFT(SP)
J= RIGHT(SP)
PIVOT = X(J)
MID = (I+JV2
IFUJ LT. 6) GOTO 50
IF (PIVOT .GT. X(I)) .AND. (PIVOT .LT. X(MID))) GOTO 50
IF ((PIVOT LT. X(1)) .AND. (PIVOT .GT. X(MID})) GOTO 50
IF ((X(I) LT. X(MID)) .AND. (X(I) .GT. PIVOT)) GOTO 30
IF ((X(I) .GT. X(MID)) .AND. (X(I) .LT. PIVOT)) GOTO 30
CALL SWAP(X ()X (3),IDX(1)IDX(3))
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GOTO 40
30 CALL SWAP(X(1)>X(3),IDX(1),IDX(J))
40 PIVOT = X(J)
50 IF (I .GE. J) GOTO 110
60 IF (X(1) .GE. PIVOT) GOTO 70
1- 141
GOTO 60
(RERS!
80 IF (NOT.((I LT.J) AND. (PIVOT .LT. X(J)))) GOTO 90
J= 4
GOTO 80
90 IF (1 .LT. J) CALL SWAP(X()PC(3),IDX(1)IDX(J))
100 GOTO 50
110J = RIGHT(SP)
CALL SWAP(X(1),X(3),IDX(1),IDX(J))
IF ((I-LEFT(SP)) .GE. (RIGHT(SP)-1)) GOTO 120
LEFT(SP+1) = LEFT(SP)
RIGHT(SP+1) = 11
LEFT(SP) =1+1
GOTO 125
120 LEFT(SP+1) =1+1
RIGHT(SP+1) = RIGHT(SP)
RIGHT(SP) =1-1
125 SP = SP+1
130 IF (SP .GT. 0) GOTO 10
RETURN
END

C SUBROUTINE SWAP X(I) WITH X(1+1)

SUBROUTINE SWAP(X1(X2,1DX1,1DX2)
T =X1
Xl =X2
X2=T
I1=1DX1
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IDX1 = IDX2
IDX2 = 1I
RETURN
END
cmmmmitmimmmmmmmiiimmmuummumimimimtiiHmmmmitttmi
c FUNCTION FOR FIND INDEX
ChnmmtummmmiHmmmmmmmmffitmmmmmmmm mnomum im i
FUNCTION JINDEX(X,TC)
IF (X LE. TC) THEN
JINDEX =1
ELSE
X=TC
JINDEX =0
ENDIF
RETURN
END
C #H#
C FUNCTION FOR FIND S(X) OF WEIBULL DISTRIBUTION
ammttifitititmmmmmmiHmiiintiiinmmmmmmmmmmmmmmmmm im
SUBROUTINE SXWEI(XS,SUW ,LAM MSHA)
REAL LAM,MSHA
= EXP(-L.0*((LAM*XS)**MSHA))
RETURN
END
ottwMUMW M ffIm ttm ttttttititiHHHttiMmtMHtwmmiimmitMimmtimMmmMitiiM
c FUNCTION FOR FIND VALUE OF STANDARD NORMAL
cttMMmmm tMiHiiiitiimmmm tm iftititMttuMMmm immm ititmmiuM M ttM
FUNCTION CDFN(ZO)
TLZO = (1.0/2.5066282746)*EXP((-1,0%(Z0* *2)12.0)
TLWW= 10/(1.0+0.33267 *ABS(20))
TLP = 1.0-TLZ0*(0.4361836*TLWW-0.1201676*(TLWW**2)
b +0.937208%(TLWW**3))
IF (20 .GE. 0) THEN
CDFN = TLP
ELSE



CDFN=10-TLP
ENDIF
RETURN
END

c FUNCTION FOR FIND H(J)

FUNCTION NH(N.L)
NH=N-L

RETURN

END

c FUNCTION FOR FIND STO
CMtMMmmttmtmmtmuMMtimttmmtmMmMMHtm m itm ttiitiiititiiiim im
FUNCTION STO(TCETA)
STO= EXP((-L)*CETAMT)
RETURN
END
cMMmmttmtwmttmiutMttmmtwmttitttttHtwtMMMMMmtmmmMMMMit
c FUNCTION FOR FIND RT
CMWMitimmmiittmtmmttmmmmuMUMtmMMttmMumMHMmMMm
FUNCTION RT(T,DTAU,CETAY)
RT = ALOG(STO[TICETAL)/ALOG(DTAU)
RETURN
END

c FUNCTION FOR FIND YG

FUNCTION YG(PLUS BETA)
IF (BETA EQ. 10) THEN
YG = ALOG((PLUSH)/PLUS)
FLSE
YG= 10
ENDIF
RETURN
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END

C NN NN NN NN RN RN NN RN R NN E RN NN RN NN RN RN RN RN NN R NN NN R NN NN RN NRN RN NANNNNENNNNRRENRNRRARANRN

c SUBROUTINE FOR FIND (X) BY PL ESTIMATOR
cmmiwmmimiimHiIMimmwiwtmittttimmmmumuMMMttttummttwMw
SUBROUTINE PRODUC(N X,IDX,T,PDL)
DIMENSION X(50),IDX(50)
REAL  NK.NKI
SURMU = 1.0
DO20K= LN
IF (X(K) LE. T) THEN
NK =N-K
NKL =N-K+1
SX = (NKINKL)**IDX(K)
SURMU = SURMU'SX
ELSE
GOTO 30
ENDIF
20 CONTINUE
30 PDL = SURMU
RETURN
END
cuutummummmwHimimiiimmmimmmimmmmmnmmitmmmmmmm
¢ SUBROUTINE FOR FIND (X)BY HAZARD FUNCTION ESTIMATOR

SUBROUTINE HAZARD(N X,IDX, T)TC HAZ)
DIMENSION X (50),1DX (50)
REAL  NKLHA
SUMHA = 0.0
DO 20 K= LN
IF (X(K) LE. T) THEN
IF ((X(K) EQ. T) .AND. (X(K) .EQ. TC)) THEN
SUMHA = SUMHA
GOTO 30
ENDIF
NKL =N-K+1



HA = IDX(K)NKL
SUMHA = SUMHA+HA
ELSE
GOTO 30
ENDIF
20 CONTINUE
30 HAZ = EXP(-1*SUMHA)
RETURN
END
cwmmmmtmtimmtmmtimtmtimitmtttnuitH ttmmmMMimM tttttiwMm
¢ SUBROUTINEFORFIND (X)BY BAYESIAN ESTIMATOR
cmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm
SUBROUTINE BAYE(N,NUX,T, TC.SUMT ALPHARBAY)
DIMENSION X(50)

J=0
FAC =10
CETA =NUISUMT

ALPHAT = EXP((-L*CETA*T)
ALPHAF = EXP((-1)*CETA*TC)
DO101=1N
IF (X(1) .LE. T) THEN
IF((X(1) .EQ. T) AND. (X(I) .EQ. TC)) THEN
J =N
FAC = (ALPHAF-KN-NU)VALPHAF
ELSE
J =)+l
FAC=1.0
ENDIF
ELSE
GOTO 10
ENDIF
10 CONTINUE
BAY = ((ALPHAT+N-)/(ALPHAR+N))*FAC
RETURN
END
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C  SUBROUTINE FORFIND S(X) BY BAYESIAN ESTIMATOR

SUBROUTINE BAYEL(N,NC,T50,SIGMA,SLOGX, T, TC)ALPHAR,BAYL)
DIMENSION X(50)
3= 0
FAC =1.0
ZTC = (ALOG(TCIT50))/SIGMA
CUM = CDFN(ZTC)
ALPHAF = 1-CUM
ALPHAT = SLOG
DO 101= LN
IF (X(1) .LE. T) THEN
IF (X(1) EQ. T) .AND. (X(I) EQ. TC)) THEN
J =N
FAC = ((ALPHAF+NC)/ALPHAF)
ELSE
3 =341
FAC= 10
ENDIF
ELSE
GOTO 10
ENDIF
10 CONTINUE
BAYL = ((ALPHAT+N-J)/(ALPHAR+N))*FAC
RETURN
END

C  SUBROUTINE FOR FIND S(X) BY GAMMA-BAYESION ESTIMATOR

SUBROUTINE BAYEG(N,X,T,TC,NU,SUMT,BAYG)
DIMENSION X(50)

J =0

TAU = 1.0

SURFAC = 1.0



DTAU = TAUITAU+))
CETAL = NUISUMT
DO 111=1N
IF (X(1) LE. T) THEN
IF(X(1) EQ. TC) THEN
J =NU+L
NC=N-NU
FLSE
)=}
ENDIF
FLSE
GOTO 1L
ENDIF
11 CONTINUE
NUI =NU#1
IF (1. EQ. NUI) THEN
NHJ=NHINN)
FLSE
NHJ=NH(N, )
ENDIF
R =RT(T.DTAUCETAY)
FACL =((NHH+TAU)(NHHTAU+D) R
IF (0 EQ. 0) THEN
SURFAC= 10
GO0 13
ENDIF
DO K= 1]
KKL =Kl
NHKK1 = NHNKKY)
IF (K EQ. NUI) THEN
NHK =NH(NN)
FLSE
NHK = NH(NK)
ENDIF
FACL = (NHKKLATAUP(NHK+TAU+)
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FAC22 = (NHKK L+TAU+1)¥(NHK+TAU)

RXK = RT(X(K),DTAU,CETA)

FAC2 =(FAC21/FAC22)**RXK

IF (K EQ. NUI) THEN
NHKC = NH(N,N)
PLUS1=NHKC+NC+TAU+1
PLUS2 = NHKC+NC+TAU
BETA =0.0
F1=YG(PLUSL,BETA)
F2=YG(PLUS2,BETA)

ELSE
NHKN = NH(N,K)
PLUS1=NHKN+TAU+1
PLUS2 = NHKN+TAU
BETA =10

ENDIF

FAC3 = YG(PLUSL1,BETAVYG(PLUS2,BETA)

FAC = FAC2*FAC3

SURFAC = SURFAC*FAC

12 CONTINUE
13 BAYG = FACI*SURFAC
RETURN
END
CtIMMMMWWHmMmMmMmMmMmtmtmtmmitiHW itimttmmtmMMimmmmm

c SUBROUTINE FOR FIND RELATIVE ERROR

SUBROUTINE RELATE(S,ST RE)
DIFF = S-ST
RE = (ABS(DIFFyS)* 100
RETURN
END
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